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1. Write short notes on the following :
frfafaa w Gt fecafirat fafag
(a) The Indian Councils Act, 1861. 8
g uftyg rfufm, 1861.

(b) Role of Bihar in the Quit India Movement. 8

Y DSl IAT<ie A fogr i i

(c) Santhal uprising. 8
Hore fagre.

(d) Patna Kalam painting. 7 4
TeAT e FaEeRa.

(e) Art and Architecture of Mauryan Age. 7
HriehTefl hell Td TATIIhal.

2. (a) Describe the Champaran Indigo Movement and explain its impacts on the
Indian freedom struggle. 38

TR e TGl T JUH ShiITT qT WA Sasdl §oy T 386 IHE! shi
T HIfAT |

Or! AT

(b) How far the British policy was responsible for the emergence of Indian
National Movement ? Explain. 38

qRA™ TT HereH o 3¢ 1 fafew fafeat =val oo feam of ¢ s
i |
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3. (a) Examine the expansion of Western Education in Bihar from mid-nineteenth

century onward. ' 38
forgr o 3=frerll wrared] & Aeg & 3 ufvedt fen & Serma 1 whew Hifs |
Or/ A=t
(b) Assess the constructive works of Mahatma Gandhi. 38

HETeHT Tieft % =TS HE] i ke Shifg |

Section -1l

@us - i

4. Answer the following questions :

frefaRaa st o s i

(a) Discuss the direction of unity and coalition politics of opposition parties after the
defeat of Aam Aadmi Party in Delhi Assembly Elections, 2025. 8
feeed faamra I 20251, 37 31TeH! a1l shi 81 % oG fouaft et i Thgedr
3R TTEEUH I TeHITa 6t feen W == Hifs |

(b) Rassia-Ukraine war has completed three years. Throwing light on the causes of
this war, and discuss its effects on the World politics. 8
- Ig I dF 98 QA TCE | 30 IE F FRUT W TR ST gL, 3N
399 Tava Uil W 9S4 91 I9TET <6l == shifeg |

(¢) Maha Kumbh Fair was organized in India from Monday, 13 January, 2025 to
26 February, 2025. How was this fair a symbol of Indian culture, religious faith
and social harmony ? Explain with examples. 8
Y | HMER, 13 e, 2025 ¥ 26 BRI, 2025 T HaT HF Hel 1 JAETeH
fohaT /T | T8 Hell WRATE SEpha, T foverd SR AT EEdT 6 et
H 8 ? IeTe Afed T Hifw |
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(d) Throw detailed light on the need and importance of caste based Census in Bihar.

fogr & snfy snenfa ST 6t STavEsdl 3T HEd W fowqa Y 1 |

(e) Analyze logically what the future of the United States of America will be at national
and international level under the leadership of newly elected President Donald
Trump.

Tafatfad Tegafd SHeE g8 & g § Hga Usd 3THIER &1 TR 0
FUSET T T s Hd1 g, 1 deh |igd fageiyor Hifsw |

(a) Uttarakhand has became the first state to implement the Uniform Civil Code in
India. Explain the Uniform Civil Code in this regard. Also explain with examples,
what changes will it bring to the Indian society on social, cultural, religious and
legal basis.

ITTEUE WA H THEHAM AN Higdl @] i JTel Iaell 59 o5 737 2 |
30 HEERY § UHEHH A GiEdT S GHesd | 91y € 9Ed At gurs |
AT, TiEHT, T T HEE U W aREdd 26 @l Sew
Tgd ¥ HIT |

Or/ 3<ar

(b) Discuss the Constitutional provisions governing Presidents Rule in India,
giving reasons for the imposition of Presidents Rule in Manipur recently and
also evaluate its effectiveness in the present times.

A | Tegafa oA 1 FHEPa e are g3enfies yEee | oS=t w, wd
2 H AR ¥ Tsgufd SR SR S % SR 9T 3R 990 TH | 3Eeh]
THTESidr &1 ol geared o |

7

38

38
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6. (a) Discuss the concept of ‘One Nation, One Election’ and its implication on
the federal Structure of India. What are the potential advantages and

disadvantages of synchronizing elections to the Lok Sabha and State
Assemblies ? Analyze.

T TS, Ueh YA I FTYRN q1 WRA 6 TH1F g W 39 Higard W ==t
HL | AREAT 3R TS TUHETIAT & FATE1 ! Tsh 1Y U 5 TEITfad SRS
3R e #4177 Tavetfya Fife |

Or/ 3Fear

38

(b) Throwing light on the increasing women participation in Indian politics and
society and the Women’s Reservation Act, 2023 (Narishakti Vandan Act, 2023),

Analyze the social, economic and political changes taking place in Indian society

due to its implementation.
TR Tofe U TETe | el afgen gaviiiar qun afgen stmer st
2023 (AR Ied ATUTEH, 2023) T Y6 SEd gY, 39 fShaT=ad &
WA THTS § B4 91l SRS, AT T T ifaeh gitad=t s faversor $ifsg |

Section - 1ll
Qug - |l

38

7. The following table demonstrates the number of candidates appeared, qualified and
selected in a competitive examination from five States Delhi, Himachal Pradesh
(H.P.), Uttar Pradesh (U.P.), Punjab and Haryana over the years 1994 to 2000.
Study the table carefully and answer the questions given below it :

Delhi H.P u.p Punjab Haryana
PlIRIBI IR IRl R | BB . %1318 P | 8|2
Year | & E | 5| ® E |8 &« | €8] &« | €|B o = | B
P8 E|s5|5| B 5|8\ E|5|8| 8|52
g lelol. &6 |ln| &|6lolks |6:lol.& |6 e
1994 | 8000 | 850 |94 | 7800 | 810 | 82 | 7500 | 720 | 78 | 8200 | 680 | 85 | 6400 | 700 | 75
1995 | 4800 | 500 | 48 | 7500 | 800 | 65 | 5600 | 620 | 85 | 6800 (600 | 70 | 7100 | 650 | 75
1996 | 7500 | 640 (82 | 7400 | 560 | 70 | 4800 | 400 | 48 | 6500 | 525 | 65 | 5200 | 350 | 55
1997 | 9500 | 850 | 90 | 8800 | 920 | 86 | 7000 | 650 | 70 | 7800 | 720 | 84 | 6400 | 540 | 60
1998 | 9000 | 800 | 70| 7200 | 850 | 75 | 8500 | 950 | 80 | 5700 [ 485 | 60 | 4500 | 600 | 75
1999 | 9200 | 780 | 75| 8000 | 870 | 80 | 9000|920 |75 | 6000 | 490 | 65 | 5500 | 650 | 80
2000 | 8800 | 750 | 72 | 8500 | 900 | 88 | 8000 | 900 | 82 | 6300 | 500 | 62 | 8000 | 620 | 78
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p fferfias oot a¥ 1994 ¥ 2000 % N dfE Tl feedhl, fawma wew (Raw.),
I Y (3.9.), ISTE S giEmn ¥ U yfqanht wlen § e, g s v ==
Iefiear 1 TEAT HI YShid w8 | GROf H SAHYEH HEH HI qUT 36
=t fou BT Al w1 I i

r foeett ’a. 3.0 LEIGH ghEmmn

1994 | 8000 [ 850 | 94 | 7800 | 810 | 82 | 7500 | 720 | 78 | 8200 | 680 | 85 | 6400 | 700 | 75
1995 | 4800 | 500 | 48 | 7500 | 800 | 65 | 5600 | 620 | 85 | 6800 | 600 | 70 | 7100 | 650 | 75
1996 | 7500 | 640 | 82 | 7400 | 560 | 70 | 4800 | 400 | 48 | 6500 | 525 | 65 | 5200 | 350 | 55
1997 | 9500 [ 850 | 90 | 8800 | 920 | 86 | 7000 | 650 | 70 | 7800 | 720 | 84 | 6400 | 540 | 60
1998 | 9000 [ 800 [ 70 | 7200 | 850 | 75 | 8500 | 950 | 80 | 5700 | 485 | 60 | 4500 | 600 | 75

1999 | 9200 | 780 | 75 | 8000 | 870 | 80 | 9000 | 920 | 75 | 6000 | 490 | 65 | 5500 | 650 | 80
2000 | 8800 | 750 | 72 | 8500 | 900 | 88 | 8000 | 900 | 82 | 6300 |-500 | 62 | 6000 | 620 | 78

(a) For which State the average number of candidates selected over the years is
maximum ? 6

forg s & ford fafir anf o =afa sefieard w1 oftad sftemag & 2

(b) For which year the percentage of candidates qualified from Haryana over the
candidates appeared from Haryana is highest ? 6

form o9 % fo@ gf@mon @ 3Edr g Iefiear =1 i@ 8 it 3efiearl
9 e 31ftesam g ?

(c) Inthe year 1999, which State had the lowest percentage of candidates selected
over the candidates appeared from that State ? 6

l ¥ 1999 § FFT TS § Tufia Inficar &t 39 TSY ¥ wnfiel Iufleart W i
AT B ?

(d) For which State the ratio of candidates selected and the candidates qualified is
highest for the year 1997 ? : 6
form s & fo ad 1997 § =i Iufigart 3R 3t red SEficari & 3Td
AR & 7

(e) Which state has the highest percentage of total candidates selected over the
total candidates appeared from that State during the years under consideration ? 6
orm T 1 fommuefiv ot & S o =ata sefiearl 1 39 U9 ¥ Wid $a
Iufigam W gfdwr Stfehag 8 2
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(f) Find the ratio of the total candidates selected, qualified and appeared from U.P. |
during the year 1994 to 2000. 6
9 1994 H 2000 % SN 3.9. § et IAMd, 7EdT I Ud wnfter Ifieand
T UG T I |
Or/ 3AYan
The bar diagram given below shows the production (in tons) of three crops — paddy, !

wheat and maize during the year 2002 to 2005 in a country. Study the diagram
carefully and answer the questions given below it :
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(a) What is the ratio of total production of paddy, wheat and maize in the country
during the year 2002 to 2005 ? 6

<9 H 99 2002 ¥ 2005 % GRH °H, T 3T HFhT h Hol IcaTe 1 I T § 7
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(b) The total production of maize is what percentage of the total production of the
three crops during the years under consideration ? 6

femmuefia oNT 3% SR TR T B IUTEH, I BEAT 6 el ST I fShaAT
yfasa 8 7

(c) The average production of wheat is what percentage of the average production
of paddy during the years under consideration ? 8
fommuef 9t < SR 1% 1 3Ed IcTe, 9 % e Iea1ed ol fehd fawrd
27

(d) What percentage of the production of maize should be increased or decreased,
so that the total production of maize is exactly half of the total production of paddy
in the country during 2002 — 2005 ? 8
Herh o1 IcdTed b Slderd sigrm 31em =@ e fob 2w § 2002 — 2005 &
BRI Wk 1 Bl IcUTEH, U & oA IcATEH 1 Sish 3T &1 91T, ?

(e) If in the year 2004, the production of wheat is increased by 50% and the
production of paddy is decreased by 40%, then the production of paddy will be
what percentage of the production of wheat ? 8
afg a8 2004 § TE H IAET 50% FE AT § qYUT M Hl IcqG 40% FH 8
ST ], T G W1 ITEH, T8 Icq1eA 1 foha Afaerd R 7

8. The following pie-charts represent the expenditure (in rupees) of two families A and
B. Study the charts carefully and answer the questions given below them :

-----
-----

------
------

-------

*

Family A Family B
(Total Expenditure : Rs. 30,000) (Total Expenditure : Rs. 45,000)
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=1 as-t@fs < uiERl A 9YT B % =59 (3991 H) &1 ewid & | {@itEE o e o
FEA ST aUT IHH A e 1 wwAl % I A

(% =¥ : Rs. 30,000) (%A =IF : Rs. 45,000)

(a) What is the total expenditure of the two families (in rupees) on food ? 6

SHI 9HET 1 9ISH ¥ % =99 (3991 7) a2 |

(b) The total expenditure of the two families on fuel is what percent of the total

expenditure of the two families on clothing ? 6

ST a1 SO T 53T Bt @Y 3 huSl H gU Pl @ HI a1 T B 7

(c) If the expenditure of the two families on food and house rent is increased by
20% and 30% respectively, then what will be the percentage increase in the total
expenditure of the two families combined ? 8
afe EH1 IRET % HISH T TR R B9 9T S B A 20% U6 30%
3z B ST &, T A ol B e wh B AT e = i Fea i
gfg & sweft ?
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@ (d) The expenditure on clothing for the two families is increased by 15%. What
percentage of expenditure on miscellaneous should be decreased by the two
families separately, so that their total expenditure remains the same ? 8
ST IiERl § w8 W B I T ° 15% W gfg & It 7 | gl aiEr §
-7 fafae el 4 gF ot =2 | fohde —foras fasra <t =6t <t Simg, anfek
TR Pl oI ufiEfad @ ?

(e) Ifthe expenditure of the two families on food, clothing and house rent is increased
by 10%, 20% and 30% respectively, then find the ratio of their total expenditures
on food, clothing and house rent. 8
Ife gHt afERl &1 WisH, FUe W@ HhH A § 89 el &9 § HAT: 10%,
20% U1 30% I ghg & AT &, Al 3 HISH, HIS G T fohtd § 84 a1t
Fel ST H I 1d Hite |

Or/ 3Yar
The following graph shows the exports from three companies X, Y and Z (in Rs.

crores) during the year 1993 to 1999. Study the graph carefully and answer the

questions given below it :
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T smere 7wl X, Y©d Z @ a9 19939 1999 % SR 7 Fafa (g w7l #) i

T & | G il LAY S HIor q>T I6eh A1 1GT FY T o Iw 1o

T (S T4 A)

(@)

(b)

(©)
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Which company had the steepest rise in its exports compared to the previous

year and in which year ?

T et 3 gu Fafa & fres o % geree, weiie gis g8 v e e i

Which company had the highest percentage increase in its exports in the year

1999 as compared to the year 1993 and what was this percent ?

fora et a9 1993 it gor # a¥ 1999 H frata # sAfreran wfawd 9fg g8
3 78 fepa wiftrera off 2

If in the year 2000, the exports of the three companies X, Y and Z are increased
by 10%, 20% and 30% respectively as compared to their exports in the previous
year, then what will be the ratio of their exports in the year 2000 ?

gfe g 2000 # A HFfET X, Y @21 Z & Faia # e ay 4 fofa & gan |
SHHST: 10%, 20% AT 30% ! Jhg Bl &, a1 a9 2000 H 39 g fordt T Tt
T AT R BT ?



s

(d) What percentage of export should be increased by the companies X and Y in the
year 1996, so that their export becomes double of the export done by company
Z in the year 1996 ? 8
a9 1996 § HHHT X AT Y gRT 379+ Fta =i fera wfsra sern S foh e
frataerd 1996 # o1 Z g1 fohu U fafa &1 &t AT @ S 2

(e) Ifin 1992, the export by the company Z was 30% less than thatin 1993 and the export
by the company X was 30% more than that in 1993, then what was the difference
(in Rs. crores) between the exports by the companies Z and X in the year 1992 ? 8
afc 1992 1 et Z =1 Frafa 1993 % fata & 30% w0 o1 a1 o X
frata 1993 & @ @ 30% 31faes o, 91 99 1992 § seat Zud X % ffa o
fora 37 (g w9l H) A1 ?
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